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20209 = E0& nSAESESH XA
2A NS
A Hsus g4 XA
S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
wEHFH M 12,598,374 10,487,085 2,111,289
= 2,851,000
s 300,000
= 148,780
Al 9,298,594
suws =4 XN& 11,883,834 9,794,282 2,089,552
= 2,851,000
s 300,000
< 148,780
Al 8,584,054
LS Mbla e (RSMESESIA) 9,505,641 7,338,554 2,167,087
= 2,851,000
< 40,000
Al 6,614,641
Ns8REMAHTS) *5 978,026 978,901 AB75
201 Let24d] 774,626 775,061 A 435
01 At 22l 17,000 16,000 1,000
O1 gersgy| 10,000
PRSYBUE MULATEY Y P
10,000, 000& * 14! 10,000
03 2949 7,000
PRELSEIL OIS HALY
100, 000& »72!*103l 7,000
02 232gHl 757,626 759,061 A 1,435
O1 3322 ¥ HA 392,580
PDEEIERSB 392,580
OuWsSdEHH R4 30,000,000& «12& 360,000
O XtOrL) S II(BIS)
15,0003 181CH*12& 32,580
O3 A€ ZHI =Xt 365,046
PuUSEENEH 2 ¥ |A2c
314,131,000 » 14! 314,131
DUSZEEMEH dAMEH RAE
494,235,000% *6/100 29,655
DHAEEANAY S/WRIE=>
141,727,000& x15/100 21,260
202 oddl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
Owsgsa"i & WSAAE F2 0yl
200,000& »12& 2,400
401 Al HIZ 201 Y] 201,000 201,440 A 440
01 A& HI 200,000 200,000 0
OITS N8 SXE= 100,000,000 * 14! 100,000
OHAEZAIAE(BIS) &S A
10,000,000 * 1094 A 100,000
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WS MHIA HE(DSAIESE3IH)

CEH B (BH) - NBAY - B2 O At 0t il 2
03 A& 2 0HbI 1,000 1,440 N 440
OAN&EL20UbI 1,000,000 » 14! 1,000
NSHNMAES X Y bl 2,094,844 2,138,626 N43,782
101 @121l 18,253 0 18,253
04 JI2ZtH 22 XNEE 18,253 0 18,253
OnNsSHMALE X € 232> 17,963
>olE23 71,400& x101x124 8,854
>EsY 71,4003 #1201 %27 1,928
> A X E 71,400 x 121 x6 429
>ANS 1,475,600 23| *10l 2,952
> &M ZAH| 130,000& * 121 x6& 780
> s 82| 120,000& =121 x6 & 720
> ¥ EFIHHI 1,475,600& x40/ 100% 12! 591
>=01d=2 16,251,240& *4.5/100 732
>PALEEH 16,251,240 x3.23/100 525
DEIINASEE 525,000& *8.51/100 45
>PINEEE 16,251,240& *1.5/100 244
DAEE 16,251,240& «1/100 163
o=l 290
>ot= 100,000& x 12! 100
D= 70,000& =12l 70
DEFS 70,000& =12l 70
> &3t 50,000& =102l 50
201 2yt 2 Y| 396,591 381,726 14,865
02 53294l 396,591 381,726 14,865
O1222=2 % HA 192,000
DEINRS 20,000& *800M A 12& 192,000
O3 A& &Hl ®AX4I 201,175
DNESZHAE 22l 180,000,000 *14] 180,000
DASS ot EH 55,000& *385H A 21,175
O4 XteFd eyl 3,416
>IN (3SAE) 3,416,000 *1CH 3,416
206 TH 2 HI 180,000 180,000 0
01 M= bl 180,000 180,000 0
OFIIAES(LEDASEIN R 2 14E8)
450,000& 20 * 104 90,000
OUEHTAILES HEIMS(DEZBAIX 2 4
&) 1,000,000& x5 *18H 90,000
301 deEtE X = 2,000 2,000 0
12 JIEtE &2 2,000 2,000 0
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ONSANEE &1 JAQX A ZaZF
10,000& 2009/ 2,000
401 Al& Bl 28I 1,498,000 1,574,900 A 76,900
01 A& HI 1,496,100 1,573,000 A 76,900
OUECHHAIEE X & HUI(SHIHA)
500,000 *4000H 2~ 200,000
OREANBE A4 U F&
60,000,000& *100H 2 600,000
OUSANSEMOI B2 (SHIHH )
300,000 *385H A~ 115,500
OunsdsSITF B (SHIHAH)
360,000 *385H A 138,600
OQuSHsUXZ MAMNL(XE, WEH, 23
I =) 75,000,000 *4H 2~ 300,000
OAZZHeIE SedSI| FHl
850,000 »700H 2 59,500
OLE WSAUSHAUHI wx
5,500,000 » 1504 A& 82,500
03 Al 20 HI 1,900 1,900 0
OAIE = HHI 1,900, 000& 14 1,900
[ {M=1Rs]! 171,841 26,313 145,528
801 GilHIbI 171,841 26,313 145,528
1 el 171,841 26,313 145,528
Ouulgl bl 171,841,000 14 171,841
OEloleEs3d |XE 170,600 171,224 A 624
401 Al BIZ 201 8] 170,600 171,224 A 624
01 A& HI 170,000 170,000 0
OogolEs2Y RAE+
6,000,000 2004 2 120,000
Oogol2sx49 CCTV KA+
3,125,000 * 1604 2 50,000
03 A& =2 THHI 600 1,224 A 624
OAl& 2| 600,000& » 14! 600
MWIE &X 1,161,890 901,890 260,000
= 280,000
Al 881,890
401 Al I 28I 1,161,890 901,890 260,000
= 280,000
Al 881,890
01 A& HI 1,160,000 900,000 260,000
OTWIZ &X(5MA)
1,160,000, 000& 14 1,160,000
= 280,000
Al 880,000
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 AlE 2 THHI 1,890 1,890 0
OAZ =l 1,890, 000& =14l 1,890
EHEE XEE X ¥ FHul 200,500 201,440 A 940
401 A& HIZ 2018 200,500 201,440 A 940
01 A& HI 200,000 200,000 0
ogadge: 2¥s & 10,000, 0003 209K 2~ 200,000
03 Al 2 THHI 500 1,440 A 940
OAIZ =TI 500,000 » 14! 500
Pehactex A 4X 2 Hb| 201,100 201,800 A700
401 A& HIZ 201 I 201,100 201,800 A 700
01 Al&tl 200,000 200, 000 0
ORusc 94X B2 SX L |
200,000,000 =14l 200,000
03 A& SR THHI 1,100 1,800 A700
OAE S HHI 1,100,000& =14l 1,100
DESMD 2 X HEAY 248,900 0 248,900
= 124,000
Al 124,900
401 AIEHI L 2CHYI 248,900 0 248,900
= 124,000
Al 124,900
01 A& HI 248,000 0 248,000
OuESAtD 22 HEAY 248,000
DEHAHE HEAES FH
248,000,000 =14 248,000
= 124,000
Al 124,000
03 AlZ 2 THHI 900 0 900
OAIE =l 900, 000& » 14! 900
HEol2Es329 HHAY 695,600 0 695,600
= 347,000
Al 348,600
401 Al HIZ 2018 695,600 0 695,600
= 347,000
Al 348,600
01 A& HI 694,000 0 694,000
O0elolEs 29 e ALY
694,000,000 » 14! 694,000
= 347,000
Al 347,000
03 A& =2 I 1,600 0 1,600
OAIZ 24l 1,600, 000& 14 1,600
PFEA BE RDSHATS) 5 3,262,340 0 3,262,340
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e H=EDRE MHIA HNE(REAILSELESH) (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 1,956,000
Al 1,306,340
401 AlEHIZL £ 0HY| 3,262,340 0 3,262,340
= 1,956,000
Al 1,306,340
01 Al&H| 3,260,000 0 3,260,000
O2FA HHWEMAHCITS) FEA
3,260, 000 000& x 1Al 3,260,000
= 1,956,000
Al 1,304,000
03 AlE 21| 2,340 0 2,340
OAIE 20l 2,340,000 =14l 2,340
ECODNEMAH(AEMNS) 25 240,000 0 240,000
= 144,000
Al 96,000
401 Al HI L £ 0HHI 240,000 0 240,000
= 144,000
Al 96,000
01 Al& H| 240,000 0 240,000
OQ2FEA HBHDEMAHA(ASMSE) =
240,000,000 1Al 240,000
= 144,000
Al 96,000
F02ADSstD AP SEIH 2 A X 80,000 0 80,000
& 40,000
Al 40,000
401 Al HI L £ 0HHI 80,000 0 80,000
= 40,000
Al 40,000
01 Al& H| 80,000 0 80,000
Otlls ©=otMet & X 80,000,000& = 14! 80,000
= 40,000
Al 40,000
WEOHM 9OlAl USH(WEAMAELESAH) 299,600 204,440 95,160
= 18,780
Al 280,820
o elol sordNE =X 98,200 56,000 42,200
307 2I2t0| & 98,200 56,000 42,200
05 QIZ2tEF 2 98,200 56,000 42,200
OE0INEZES 212t & 98,200,000 x 14! 98,200
WEMAIY 29 96,400 133,440 A 37,040
201 Bt 39,000 39,000 0
01 AP 22| H| 39,000 39,000 0
O1 det=2H| 37,000




%O
zus 4 X
SoHA oA AN (NSALELEFA) fEH)
= d =
LR o - By e HlDE2
D> WS At 35,000,000 =14l 35,000
D> S0t NS
2,000,000& » 14! 2,000
O3 2d =+ 2,000
D> &0t 2+
00,000& 102! %23 2,000
202 OHl 3,600 6,000 A 2,400
01 = LH 4 Hi 3,600 6,000 A 2,400
OunsotA & ol
300,000& =122 3,600
301 LeEBAF 13,800 8,440 5,360
09 A& HIX 13,800 8,440 5,360
OunsotA S < 2 A
7,000,000& »14 7,000
Oo2d Xz 10,0003 x3421 «20 6,800
307 izl & 40,000 40,000 0
02 212tH &AL 40,000 40,000 0
OusAt orM 2EH X
25,000,000 =14l 25,000
O0gol wSAtD o sH XN
15,000, 000& 14! 15,000
golnssd & 42,400 15,000 27,400
201 Yute S| 15,000 15,000 0
02 =224l 15,000 15,000 0
O3 A€ ZHI= Xt 15,000
DO WNSSE AME R+
15,000,000 * 14! 15,000
405 TtobFH S| 27,400 0 27,400
01 AL EZFH S 27,400 0 27,400
O&olw e 27,400
>PC 1,300,000 *5CH 6,500
>IP &3tD| 600,000& +504 3,000
>EMAME DI 1,200, 000& *1CH 1,200
DEED 700,000 = 1CH 700
DAMSEIF 16,000,000 * 14! 16,000
28X nset 62,600 0 62,600
< 18,780
Al 43,820
201 £B-2% | 29,600 0 29,600
< 8,880
Al 20,720
01 At 22/l 29,600 0 29,600
O1 get==2Hl 29,600
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HH - B (3H) - KA - BYS 0l &t o il Bl RE2
>oaEX w ]
29,600,000 =14 29,600
= 8,880
Al 20,720
301 LEHZ 33,000 33,000
< 9,900
Al 23,100
12JEEd= 33,000 33,000
Ong=2a8 Xt wsEHl K&
100,000& 3302/ 33,000
< 9,900
Al 23,100
P 2el(RsSAtg 2,078,593 1,664,438 414,155
s 300,000
< 90,000
Al 1,688,593
=8X =X Z=XE8 ZY| 80,300 80, A 60
401 AIEHI L 2 CHEI 80,300 80, 260
01 A& tl 80,000 80, 0
O=&dx 32X+ =N
80,000,000& =14 80,000
03 Al 2 THHI 300 A 60
OAIE =TI 300,000 » 14l 300
& =XE A Bx3 16,000 20, A 4,000
402 RI2HX=20l M 16,000 20, A 4,000
01 U2 EAIE E X( 16,000 20, 24,000
OUE=x&
2,000,000& =82t 16,000
g FEI &S 1,048,230 935, 112,340
201 £B-2dH| 578,686 569, 9,340
01 At 22/l 53,715 55, A 1,380
O1 Let==ZH| 45,075
DEYHFEXN HE2H = 6,605
O JXAM 60& 108, 0000H 6,480
oAel0lsS KA 250& 50004 125
DEYHFEX HEA a8, ¥ 5)
500,000& » 14 500
DEYFEX 12,000, 000& 14! 12,000
DEAUYE M i=e
11,230, 000& 14! 11,230
DEAUYSE MHIA CCTV Sl S240I1HE 2
368,000& *5H 1,840
>ANARA o re A 2|
000 2 & +12& 2,400




SN DEHEDY
A Hsus g4 XA
¢el: =R 2el(LSASSESA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
DEAD Y ZElH EH, E8(2XM &)
350,000& *15J4 23] 10,500
O4 1=l 2,880
DEHFTEN HERR 2,880
O dt= 100, 000& *62! 600
os= 140,000& *62! 840
O =3t 50,000& 621 x23] 600
o &dt= 70,000& x62! 420
oEx= 70,0002 +6¢! 420
05 S| 5,760
PEVFIN HA(5Y.012) ¥ SEEa0
M 22 8,000& 62110 128 5,760
02 232gl 524,971 514,251 10,720
O1 3332 % MA 424,458
DRUQS(FXURAL MESTAN LE) 275,400
0 &7l 2,130&+10,00000 x12& 255,600
OYBH(ASHE U REL4E T8
330& *5,00004 123 19,800
DHEg HEE AHEZ 40,000& 201 122 960
>y =& XE= CCTV 126,000
oNMIIR=2 20,000& x105CH x12& 25,200
O&E3H 23 80,000& 1053 & +12& 100,800
DEXE L HAARS 8,400
oONIIR= 100, 0002 64 &+ 12& 7,200
OHCt=ER3 50,0003 20 2128 1,200
DEALSAAE SAZ 6,768
O 2XdSH 300,000& »12& 3,600
O RE Sl 44 000 601 122 3,168
DEgFxtael AEE S4bl
33,000 350 6 6,930
O3 A& & HlI s Xt 64,810
folctsaraal 8 HIARA
1,500,000 *20H 2~ 3,000
DY oH AAE FRES 14,500
O JI&E 4,500,000& = 1CH 4,500
O uwH 2,000,000 »5CH 10,000
>CCTV 7 X 2= 36,800
O R0l Ch=sAlAE 30,000,000 =14l 30,000
O AQIMNEL 1,800, 000& 14 1,800
O3E=XE 2,500,000 *20H 2~ 5,000
DENLSANLAEYE S+
10,510, 000& 14! 10,510
O4 Xt&H eyl 35,703
=R Nl 35,703




A REWEDY
Mz HznE 4 I
S FEX el (WSANLSELEAH) (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
osstsEd 4,404,000 =204 8,808
[ = 6,867,000 «3CH 20,601
O AKX ExIIX 3,147 ,000& «2LH 6,294
202 04d| 24,000 24,000 0
01 2Ll 24,000 24,000 0
O2YFEX &= (| 2,000,000& x12& 24,000
207 &I &y 6,000 5,000 1,000
01 24| 6,000 5,000 1,000
OBEFANY UASUHE 4BRAI} 24 8
& 6,000,000 =14l 6,000
301 et M= 1,500 1,500 0
09 HAIAHI XIS 2 1,500 1,500 0
OEYHFEX o= HESHA 10,000 x150¢! 1,500
305 A2 S 10,000 10,000 0
01 A Z2S 10,000 10,000 0
OLACI KSR &l =HH A 400,000 =25CH 10,000
401 Al HI L £ 0HHI 291,044 291,044 0
01 Al& H| 290,000 290,000 0
OEYFAEX Roltkx CCTV X (DHA!) 290,000
> A RAX 25,000,000 x 109K & 250,000
>AsIHA 4,000,000 1004 & 40,000
03 Al 201 Y| 1,044 1,044 0
OA&EE0Hdl 1,044,000 14! 1,044
405 XHAHFEIEHI 137,000 35,000 102,000
01 XAt 2 E F S| 137,000 35,000 102,000
OEBYF=AX S x&(WA)
35,000,000 = 1CH 35,000
O A&FXE Se2tel AlAH
25,000,000 x 14! 25,000
ORHIY =R = H A 2,200,000 3504 77,000
29F=EE XM 100,300 391,400 A 291,100
401 Al HI L £ 0HHI 100,300 391,400 A 291,100
01 Al& B 100,000 390,000 A 290,000
O29FXE AdKSXEZL 100,000,000 14! 100,000
03 Al&E 201 Y| 300 1,400 A 1,100
OA&EE0Hdl 300,000 x 1Al 300
F=XEHENA 600,000 0 600,000
= 300,000
& 90,000
Al

210,000




A REWEDY
A Hsus g4 XA
©el: =FA 2el(LSMSEESH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 600,000 0 600,000
s 300,000
< 90,000
Al 210,000
01 A& HI 600,000 0 600,000
O3g=xE =4 600,000,000 =14 600,000
s 300,000
= 90,000
Al 210,000
JEHE HEgd= 233,763 236,788 A 3,025
201 L2l 221,203 224,228 A 3,025
01 At 22l 23,200 23,000 200
O1 get==EH| 23,200
DSz BEHHE S L HME2XA
66,0003 302 A 1,980
DAZSEE Y MUY F NMElA =2 11,440
oHXEHEONES 2,640,000& » 14! 2,640
OXdXN&EIMEIA 6603 x13,333AH 8,800
DASAH2SE BEHE JIIAHS g2
80& *4,00021 128 3,840
DASH2AHE DEHE AEIIE 22 1,440
[OR=38 F=3= =)
6,000, 000& *1CH*2/100*12& 1,440
DS BEHE MEX HALRSI| =
= 1,000& * 1,000 1,000
DHSE P S MY 28 222 (LGX
ZHl 8) 2,500,000& 14! 2,500
DHZUEHE 2 EEE HE (3% S)
1,000,000 =14l 1,000
02 =224l 198,003 201,228 A 3,225
O1 3332 % MA 186,396
DREQZ (IS WHE Mg 28
g &s¥8g) 184,320
OSI(RAEME & RS+ XT)
2,130&+4,00000 x12& 102,240
OLdEHAEME & RS+=3 XT)
380& 18,0000 123 82,080
DASXN & EEE S 1,920
O EUZ(POA) AtEE 80,0002 *2CH*12& 1,920
DIHEMAI ALEZ 156
O SHtAER 13,000& =128 156
O3 A& ZHl s Xl 4,740
DAUSEENE SSHIXNALAE FAUE+
4,740,000 =14 4,740
O4 Xt&d eyl 6,867
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HH - B2 (3H) - NEAY - BAS O 4t o8 il
DIUHRAH(SEEE) 6,867,000& ~1LH 6,867
202 04d| 10,560
01 2L Y| 10,560
OXNsx2d He MElE 2482 ol
880,000& x12& 10,560
305 HHAa=2S 2,000
01 BHA 23S 2,000
OGXXe HasT £=2|H| 100,000& *20CH 2,000
HESHAL (WSHY W) 714,540
AR2HU(nSEEFWN)(NSAMLSEZH) 646,262
HA2AH|(nEHZH ) 646,262
101 @121l 646,262
03 RINHAZ22XNHE %= 646,262
OggaIA 311,238
>olE23 1,819,570& x8Q21 x12& 174,679
>ANHB 174,679,000 *4/12 58,227
DAHEZZ LG 14,855& *801 %240 Al 2+ 28,522
DAHAXES 9,003& *8Al 2t*8021 %10 6,338
>y HZAH| 130,000& 82! x12& 12,480
D WESE X 120,000& *8Q21 x12& 11,520
>YESFIHI 1,819,570 x821%80/100 11,646
> H LKA 7,826,000 14!l 7,826
OHIARA 214,586
>olE23 1,797, 710& x6Q21 x 12& 129,436
> a3 129,435,000 *4/12 43,145
DHEZZ2HE 14,697 & x621 x60 Al 2+ 5,291
DAXSE 9,796& *8A| 2+ *621x 10 4,703
>y HZAH| 130,000& 62! x12& 9,360
D WESE X 120,000& *62! x12& 8,640
>YESFIHYI 1,797,710 %621 %80/100 8,630
> H L& 5,381,000 1Al 5,381
O=0d4d32 480,877,000 *4.5/100 21,640
OAHULEE 480,877,000 *3.23/100 15,533
OILEH 15,532,000& *8.51/100 1,322
onssgsy 480,877,000 %1.5/100 7,214
Ot EE 480,877,000& %1.0/100 4,809
OP =, 12,240
> Ui < X+ 40,000& *821 x12& 3,840
DOIEFIIS (A= &L AHMOtH)
20,000& =150 x12& 3,600
> = MOt 60,000& x5021 x12& 3,600




SM: RERED
M HE2GFH (S )
thel: I (RS N)(RSAHLSESA) (&)
SA - ZE-B(EN) - NRAY - B S il 2
> AU TH Ot 100,000& 121 x12& 1,200
o1l =l 3,840
>ot= 100, 000& 82! 800
>s= 140,000& 82! 1,120
DEF=S 70,000 =8¢l 560
> ¢t st 50,0003 x821+23| 800
D> gsts 70,000 =82l 560
OE&AHZz 2E3 50,000,000& =14 50,000
O=&Hl 8,000 »821 60 3,840
|23 (RSMIEESIA) 68,278 76,490
Jl2Zdbl(nsdaE ) 68,278 76,490
201 £B-2d | 41,118 45,180
01 At 22l 33,000 37,800
O1 get==&Hl 28,200
DEM2E=SH(SASI 2 105)
1,600,000& »12& 19,200
DEAD Y ZEH EH.EE
300,000& * 157 23| 9,000
Ob5 =&l 4,800
DOt 522 R 8,000 2501 x2 U« 123 4,800
=323l 8,118 7,380
O1 22232 % AMA 8,118
DRERS 8,118
0 sJI 2,130& =3, 30004 7,029
[OR="R=1; 330& =3, 3000H 1,089
04 i 19,200 19,200
=L 19,200 19,200
OJlgge=8d bl 1,600,000& »12& 19,200
e N 5,460 5,460
LS 5,460 5,460
ORAN2EIRFEHI 455,000& 123 5,460
RN 2,500 6,650
&L =SS FHSHI 2,500 6,650
OPC(2Xl) 1,000, 0002 = 1CH 1,000
O2Xt 300,000 *5JH4 1,500
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A & 0l & AF 2 E A A
20209 = E0& nSAESESH XA
AN HHEsnsSH
A Hsus g4 XA
S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
s 4,113,582 3,985,109 128,473
J| 455,805
< 400,371
Al 3,257,406
sws =4 XN& 4,003,310 3,802,997 200,313
J| 455,805
< 400,371
Al 3,147,134
LS Mbla e (RSMSSESIA) 3,958,720 3,702,872 255,848
J| 455,805
< 400,371
Al 3,102,544
sns MHIA e X 124,200 228,960 A 104,760
201 et 32,400 47,400 A 15,000
01 At 22l 27,400 27,400 0
O1 gt=&Hl 18,400
PHALE BHE 222 WA 18,400
[OR==3--R=DN; 800& *20,000% 16,000
O ZAH 4,000& 600 2,400
O3 2d=¢ 9,000
PHERSHASHAANG OB 4g
100,000& » 1521 63| 9,000
02 =224l 5,000 20,000 A 15,000
O3 Al ZHl s Xl 5,000
DAL XML A+
5,000,000 » 14l 5,000
202 oddl 16,800 16,560 240
01 = LH o4 1l 16,800 16,560 240
OUlsnE MHIAMAE AtE EE 0l
1,400,000& »12& 16,800
207 A O] 65,000 65,000 0
01 289 65,000 65,000 0
OAUH A SHZAL & 2S5 24 829
65,000,000 =14 65,000
401 A& HIZ 201 I 10,000 100,000 90,000
01 A& HI 10,000 100,000 A 90,000
OFdel BEX10X HRAE FXNE=>
10,000, 000& * 14! 10,000
2% HA SUHERL 29 18,840 27,785 A 8,945
201 £B-2dH| 18,840 20,494 A 1,654
01 At 22/l 10,200 11,200 A 1,000
O1 get==&Hl 3,000




2N HESLSH
M swE 4 N2

e H=EDRE MHIA HNE(REAILSELESH) (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
DEUHASUAEEZA 22l =24
3,000,000& » 14! 3,000
O6 Xtz 7,200
DEUHASTUAEZA Xz
600,000 x12& 7,200
02 33249l 8,640 9,294 A 654
O1 222=2 % HA 6,000
DEUHASTUAHEEA 3522
500,000& ~12& 6,000
O3 A& &Hl s Xl 2,640
DEREUHASAHIEFA 20AHI(&H]) 2el
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QIHSAH (N EMSEL G H) 45,104 43,308 1,796
oz 23| 45,104 43,308 1,796

101 2124 d| 45,104 43,308 1,796
03 I AHLZZAHE 45,104 43,308 1,796
O8gaIA 45,104
>ol=23 1,856,130 x 121 x12& 22,274
> a2 22,273,560 «4/12 7,425
DHAZZSY 15,116 & x121 %120 Al 2+ 1,814
DA 10,0772 *8Al 2t x 121 %10 807
> &M Z A 130,000& =101 x12& 1,560
MR-y ul 120,000 x 121 %123 1,440
> Y E SO 1,856, 130& *121%120/100 2,228
>=0dZ 37,548,000& *4.5/100 1,690
>PAAEEH 37,548,000 *3.23/100 1,213
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Oaot= 100,000& = 12! 100
oss 140,000& x 12! 140
OFEF= 70,000& =10l 70
O &3t 50,000& *121*23] 100
[OR="a=10-] 70,000& =10l 70
DENAZRE S 3,129,000& * 14 3,129
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